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Language — Part1 — HINDI

Time Allowed : 3.00 Hours | [ Maximum Marks : 90

O (1) O W R F Ry ) W w1 AR @ § w o wh A g, 9 gid Fe
e ® gfaa K

@) W F IW A F fow e a1 we W s w

YT - 1/ PART -1
frefafea wal % sm @ fawes T fafag) 14x1=14
Choose the correct answer.
1. FaRg™ S ¥ foreg a9
(F) THAFRR (|) TE] () TR
2. T = § w9 g faeem |
(%) T fradt (@) fwmEy (M) wREt
3. gEE S H @ (1
(F) T (@) @R (1) |E
4. ‘feurcy’ we & #f4 4]
(F) it fig e (@) Wl (M) QUETHAR <A
5. TEAA WA ‘HfaE w5 e L=
(%) 1907 (|@) 1905 n 1917
6. 3mard gEriel 3 o] FefaT e ¥ e
(F) TsHE (@) qmEt (m =
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7.

lq.
11.
12,
13.

14.

15.

16.

T TR T S o ¥

() frm (@) g () FHn
TR ¥ piiie A
(F) ¥R (@) ¥, (m &a
‘TR EdEE ¥
(%) = foEh (@) Tl el () i Fer
T A Hea F fom T I R A
(%) &= (9) <4 (m d=
o0 o &1 R FemEe R AR wwwsm
(%) 53 (=) M (M) srERitvE
W@ _ ¢
(%) e S (@) (M) v

_ Tite I50 & i § gRa ¥
(%) it (|) wea (m foos
TRl IR @ SRR W |
(&) Presi’dent (W) Prime Minister (M) Chief Minister

MOT- 11/ PART - II

M - 1/ SECTION - 1
mﬁﬂwﬁﬂmaamfamm

Answer any three of the following.
TR e el ¥ w1 ) O e 2

‘mm'mmﬁmmmm‘?mmﬁmv

3x2=6



18.

19.

20.

21.

22.

23.

24.

i) @) o wfaa R st e e §?

TN FACF M@ R FETHIAFARNE?

3T - 2/ SECTION - 2
frerfafaa | fe <t v & 3w fafa)

Answer any two of the following.

fém = O T A R?
gRIfmanA g?
Feay T fRe wan & =i 42

W - 3/ SECTION - 3
frefafas § A el i v % 3w fafaw)

Answer any seven of the following,

At v fafaa
(#) 9’

(3m) Fd

aam farg Fl& T TR
(1) T9-gF
(zm) y=ad

e w9 fafay
(x1) wfed

(31) fafew

(3) Wegsr
(%) wfarem

2x2=4

7x2=14
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25.

28.

29.

30.

31.

32.

33.

34,

w2 uitwm e
g v AW Ry

= Fifey :
(3%) T 3 Fwert van)
(30) 3N TEF i a4 9m ¥

Y TR fF we T2 Q) e )

1 a1 & e srew faew Au A aman?

TSR mAm A d? '
YHISA &I HI9 S H@ @ a?

W - 111/ PART - I
STTHIT - 1/ SECTION - 1
frefafea © 9 s 2 i & s fafau 2x4
Answer any two of the following questions.

I Faa T ZHU 7 7€ 9901 ? 9% ] w0 T ?

i f w2

q99q A Fediand fra TR # 9E ded O ?

‘van el o & wfa W ¥?



35.

36.

37.

38.

39.

40.

41.

42,

43.

3

AT - 2/ SECTION - 2
fr=faferm i 3 Res 2 weil % e fafan) 2x4=8

Answer any two of the following,

W wien smen wifew
W WY H¢ faearg T w0 wwa i e 0 wm N T gz o wen T sfan 2 @

WA & JRas WArar] FH-HE 97
Sfer A = et w1 v Fed e @ wfo ot 6t ?

oA 1 U Fen § 7 SR aweme)

M - 3/ SECTION - 3

fadi 1 Wi & I fafan) 3x4=12
Answer any three of the following.

wE g fremy -

(F) =g m - TR IR

(B) |oeEi WA - 9 A T

(M fEmEHF - AT IR

(9) AR - ifea T foi

A4 forara Al 8 wim FH

(A1) S FA

(3n) Fers g =

Tl 5 wuW A1 A fra @ 9 33 ge v fafag
3V 9G] IUHI SERR I e THHE

T2 fea dfe
(J) T 1 g Fi Oma
(30) 57 HrEA F e
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WM - IV / PART - IV
frafafa vl 3w famane 4 fafeo 3x6=18

Answer the following in detail,

44. (R) ‘e’ wfam = wwin fafem
3rerar
(3m) Frefafan wim B wgw g & I fath
Ho1 ot vk 1A 1 €, Fort mfe wpm i € v @ 1 fe s ® T
?lﬁmﬁaﬁniﬁwmtﬁmﬁmmﬁq,a&qmﬁz,ﬂﬁm&nﬁvmﬁpﬁim
ST WA FP AF A €| S A4 T AN A T 70 I £ o A wd g v e m ow
F Fwwm ol f:3i% w 50 1 fom TR v A H e w2 T
T o 7 &\ 9% TR YE-3 W §, fave ¥ e 4 ok 9o asaaen 1
U
(i) = frx %7 iR fraa foem 32 #5i 2
(i) T foz-3 & TepE F-20 v S g2
(i) fIIFRneavyaiIdg?
(iv) 39 7Y @ sfEa YN dfeg)

45. () Haaal & faues = s Fanu|
saar
(=) G0 59 RN W T A7=e fafaul

46. (31) fagwatt & vf@ar =1 Hva i Sfea)
S
(=) €1 T2 T Efiifae 91 Iawew wfgd q9wET)

W -V /PART -V
F3% v ; ( fart wy) 1x6=6

Quote from memory : (Compulsory)

47, FdR & 5= 9 <R vewmRArTeR fafaq)



